

$$\log_{nm} m^n = \frac{\log m^n}{\log n} = \frac{\log m + \log n}{\log m + \log n} = \frac{\log m + 1}{\log m + 1} = \frac{a+1}{a+1} = 1$$

$$[b] = \left[\frac{a+a+1}{a+1} \right] = \left[\frac{a}{a+1} + 1 \right] = \left[\frac{a}{a+1} \right] + 1 = 1$$

الف) $y = \sqrt{\frac{x}{\log x}}$ $x > 0$

$\frac{x}{\log x} > 0 \Rightarrow \log x > 0 \Rightarrow x > 1 \Rightarrow D_f = (1, \infty)$

ب) $y = \frac{\log(x^2 - x - 2)}{\sqrt{x^2 - 1} + 1}$

$x^2 - 1 > 0 \Rightarrow x^2 > 1 \Rightarrow x > 1 \text{ or } x < -1$ (1)

$x^2 - x - 2 > 0 \Rightarrow (x-2)(x+1) > 0 \Rightarrow x < -1 \text{ or } x > 2$ (2)

$\frac{-1}{-1} < \frac{2}{2} \Rightarrow x < -1 \text{ or } x > 2$ (3)

$D_f = (-\infty, -1) \cup (2, \infty)$

$2 \log x + \log \frac{1}{a} = 2 \xrightarrow{x=9} 2 \log 9 \rightarrow 3^2 = \frac{1}{9} \log 9 = \frac{1}{9 \log 9} \Rightarrow \frac{1}{9 \log 9} + \log \frac{1}{a} = 2 \xrightarrow{\log \frac{1}{a} = 2}$

$2 + \frac{1}{9} = 2 \Rightarrow \frac{1}{9} = 0 \Rightarrow \frac{1}{9} = 0 \Rightarrow \frac{1}{9} = 0$

$(f-1)^2 = 0 \Rightarrow f = 1 \Rightarrow \log \frac{1}{a} = 1 \Rightarrow a = \frac{1}{10}$

$\log \frac{a}{r} = \log a - \log r = 0,7 \Rightarrow 0,7 = 0,7$

$\log \frac{1}{r} = \log 1 - \log r = 1 - \log r = 0,7 \Rightarrow \log r = 0,3$

$\log 9 \rightarrow 3^2 = 2 \log 3 = 2 \times 0,477 = 0,954$

$\log 10 \rightarrow 10^1 = 1 \log 10 = 1 \times 1 = 1$

$\log 10 = \log 9 + \log 10 = 0,954 + 1 = 1,954$

$\Rightarrow 0,3 \times 10^2 + 1,954 \times 10 = 30 + 19,54 = 49,54 \approx 50$

$(n+1)(n-2) = 0 \Rightarrow n = -1 \text{ or } n = 2$

$\hookrightarrow n = -\frac{1}{2}$

اشتراك $1 - (-\frac{1}{2}) = 1 + \frac{1}{2} = \frac{3}{2}$

$\log \frac{1}{a} = \frac{\log r}{\log a} = \frac{1}{\log a} = \frac{1}{r} \Rightarrow \log \frac{1}{a} = 2$

$\log \frac{1}{a} = \frac{\log r}{\log a} = \frac{\log 2 + \log r}{\log 2 + \log r} = \frac{r+1}{r+1} = \frac{r}{r+1} = \frac{10}{19}$

$$\log_r r = \frac{1}{\log_r r} \Rightarrow \log_r r = \frac{0}{1} \quad \log_{10} 10 = \frac{\log_{10} 10}{\log_{10} 10} = \frac{\log_{10} 10 + \log_{10} 10}{\log_{10} 10 + \log_{10} 10} = \frac{\frac{\omega}{1} + 1}{1+1} = \frac{\frac{10}{10}}{2} = \frac{1}{2} \Rightarrow \log_{10} 10 = \frac{1}{2}$$

$$\log_{\frac{1}{e}} e = m \Rightarrow \frac{1}{e} \log_{\frac{1}{e}} e = m \Rightarrow \log_{\frac{1}{e}} e = \frac{1}{e} m \quad \log_{\frac{1}{e}} \frac{1}{e} + 2 \log_{\frac{1}{e}} e = \frac{1}{e} m \Rightarrow 2 \log_{\frac{1}{e}} e = \frac{1}{e} m - 1 \Rightarrow \log_{\frac{1}{e}} e = \frac{1}{2} \left(\frac{1}{e} m - 1 \right)$$

$$\log_e e = \log_e e + \log_e e = 1 + \frac{1}{e} = \frac{e+1}{e}$$

$$(1/r)^{r-1} = (1/\alpha)^{r-1} = r^{\frac{r-1}{\alpha}} \alpha^{1-r} \quad \left(\frac{1/r}{\alpha} \right)^{r-1} = \left(\alpha^{\frac{1}{\alpha}} r^{-\frac{1}{\alpha}} \right)^{r-1} = \alpha^{\frac{r-1}{\alpha}} r^{-\frac{r-1}{\alpha}} \Rightarrow r^{\frac{r-1}{\alpha}} = \alpha^{\frac{r-1}{\alpha}} \Rightarrow r^{\frac{r-1}{\alpha}} = \alpha^{\frac{r-1}{\alpha}}$$

$$\Rightarrow r^{\frac{r-1}{\alpha}} = \alpha^{\frac{r-1}{\alpha}} \Rightarrow r^{\frac{r-1}{\alpha}} = \alpha^{\frac{r-1}{\alpha}} \Rightarrow r^{\frac{r-1}{\alpha}} = \alpha^{\frac{r-1}{\alpha}} \Rightarrow r^{\frac{r-1}{\alpha}} = \alpha^{\frac{r-1}{\alpha}} \Rightarrow r^{\frac{r-1}{\alpha}} = \alpha^{\frac{r-1}{\alpha}}$$

$$\log_a^b = \frac{1}{b} \log_a b = \frac{1}{b} (1+a) \Rightarrow \log_a b = \frac{1}{b} (1+a) \Rightarrow \log_a b = \frac{1}{b} (1+a) \Rightarrow \log_a b = \frac{1}{b} (1+a) \Rightarrow \log_a b = \frac{1}{b} (1+a)$$

$$- \frac{1}{a} \log_a b + \frac{1}{b} \log_a b = 0 \Rightarrow \frac{1}{b} \log_a b = \frac{1}{a} \log_a b \Rightarrow \log_a b = \frac{1}{b} \log_a b \Rightarrow \log_a b = \frac{1}{b} \log_a b \Rightarrow \log_a b = \frac{1}{b} \log_a b$$

$$a = \frac{b+c}{r} \Rightarrow ra = b+c \Rightarrow c = ra - b$$

$$\frac{c}{a} = \frac{ra-b}{a} = r - \frac{b}{a} = r - r \log_a b = \left(\frac{1}{\sqrt{r}} \right)^{\frac{c}{a}} = \left(\frac{1}{\sqrt{r}} \right)^{r - r \log_a b} = \left(\frac{1}{\sqrt{r}} \right)^{r - r \log_a b} = \left(\frac{1}{\sqrt{r}} \right)^{r - r \log_a b}$$

$$\frac{r^{-\frac{1}{r}}}{1 - \frac{1}{r}} = (1/r)^{-\frac{1}{r}} = \omega^{\frac{1}{r}} = \sqrt[r]{\omega}$$